Participatory L ear ning 2021-22

Online quizzes are conducted for students of B.Sc. Computer Science, Statistics and Physics
and Computer Application in the various subjects such as Internet of Things, Introduction to
Information Technology and Microprocessor and Programming.

1. Quiz Conducted for first semester students of B.Sc. Statistics
Subject: Introduction to Information Technology
Number of students participated: 14

Quzizz HAME

CLASS
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keap track of the nest instruction to be executed
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Exarmgde af valatile memory

RAM B ROM

PROM D CDROM

Which is the mediurn of optical storage system?

Lager kight B Plastic

Rubiber 0 Magnetic material
Examgabe of bpul device

Joystick B Potter

fdernory D Printer

Soul of the compater system.
Firrraare B Harchware

Snftware o Middlewars

i% 4 translatos between IVC devices and compurer,

Examgle of language transhator
Al of the abiove B Assembler
Interpreter D Compiler
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What do you mean by DTF?

Ezample of a system management program

All of the abowe 8| Operating System

Drevice Drivers (] Litility Programs

Tha intermet's primary component and communications backbone is

TP B Rauter
Imternat Protocod 0 Browser
Whao invented World Wide Web?

Tim Bamers Leg £] Vint Cerf
Larry Page £ Ulman

Which type of cache isinside CPU?

L2 Cache 8| L1Cache
kone of the above 0| L3Cacthe
A proup of elght bits ks called

BEryte B| Mibble

KB D ward



Example of volatile memaory
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Quizizz

Chuiz Mame Date Hezsteo by
Introduction to Information  Tue Jun 14 2022 712 PM SREELAR
Technalagy

ANETIZE ACCURACY Criestions per Attempt Mumber of Players

78% 20 14

Players
Hank  Player Name fvg. Time  Score Acouracy Carrect
1 abhinanch.A 10 sers e A 17720
i AFENd H & B SBCE: L] hE 15420
3 Mohamad Riraan 1 sacs 14550 B 14420
i Alshi &5 Jhsecs 14370 B0 b 20
5 Aguaniss Ao 14583 e 18720
& Divar D 5= TFoacs 14050 B5% TFE20
7 ARHIRAM K 16 sacs 1550 i 17430
| Jhu Fx o 15580 B 14 420
a Handama kriskma M5 37 st Ll b BLE 172220
14 abhilaxh s ey HERE ] W 18720
i1 HarigErmhis B AT Gl 2519 TR 14 /20
12 Dha u=h knshna pEL " 1019 O 12r20
13 Akhil A 16 s L 5% 11420
14 Devan D5 s =] 4, ] orsin



2. Quiz Conducted for third semester students of B.Sc. Physics and Computer Application

Subject: Microprocessor and Programming

Quzzz MAME |
CLASS
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1. First Microprocessos

A Inted 4004 B|  Inted A

C briteld BOES W] AMD Byzen

2. B0EE s the first hit processor

A g B 32

C 4 (] 16

3. The number of bits in 8086 address is

A 32 B| 20

C 8 [H] 16

4, Which sEgrment is wsed far addressing TTSRFTICHY location in the code of the memory, where
the executable program is glored?

A | Stack segment g Ewirasegment

C|  Codessegment 0 Data segment
5. Which register is used as counter registar?

A L% 8 X

c| BX 0| D

L 2 [The R yh o [ERRae DU LR L e i il




6 Which iz used in the pointer addressing of data and as a source in some string related

aperations?
A Bowrce ndex 0 Base pointer
C|  Stack segment 0| Destiration ndex

7. ‘Which flag s st to one If thers Is an arthmetic overflow?

A Camryflag B Auxiliary carry flag

C| Zeroflag D Overfiow fllag
8. Which of the following is not a control flag?

Al Interrupt flag B| Directionflag

C|  Trapflag bl Auxiliary carry flag
9. The numbser of pins in 3086

Al B B| 40

& 18 o 20

10 BHE stancs for

| &  Bus High Edible B | BestHigh Enable

L BusHigh Enable D BusHit Enable
11, Wihich pin = used for interrupl acknowledgemeant signal?

A MM Bl INTA

C TRAR D IMTR
12, The 4-hit binary mumber or Coede = KNoWn as ...

A Mibble B| Bit

C|  Waord D Bye
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The technology wused in fourth generation microprocessor

HCWMOS B PMOS
MBAOS 0 HMOS
PENOUM S 3 s gerneration microprocessor,
Second B Fifth
First O Fowrth

Which instruction is used for copying a string data stored in data segment to extra segment?

LMPS B BOVE

MOV D LOADS
Which of the following ts a Contral and Transfer instruction?

CALL 8 RET

JnapP O All of the above
Which instruction is used for termingting a program?

CLl B  HLT

RET D KLT
Which addressing mode i used in MOV CLDH?

Immediate addressing B Direct addressing

Relative addrassing 0 Register addressing
Which instruction is used 1o hobd the base value Tor effective address in base addressing?

BX or BP B A

55 O Shor Dl
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A Whach of the following micregrocessor not produced iy INTEL?

& 8085 g Ryren

Pardininm 8] A03EE

which addressing mode is used in MOV CL DH?

Register

addressing Direct addressing
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Average Aoouracy

79%
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Ramk  Player Mame
i Shahwnas 5 H
2 jayolakshmaES
3 &jmh |
§ Surya Saa|
5 Akhil s Bumars
[ Antyes Tam Anaony
7 OHURGA GR
8 Amritha sal
5§  ponVG
B ThesniM
T0 Adiitya, W
13 Preethi Satheeesan
13 ShahnasiH
14 Akshars Gopan
15 % A Devadachan
16 Hanthana &
BT Amwathy |

Date
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20

A Time Snre
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15 savs §8380
2 RIS §¥390
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Player Hams
Nandana N*
Mithun M
Marmeen B

[Etin John Zacharizh
Akhil 5 Kumar
Mridula B

Addhil*

Meenu Elizabeth Bip
Aparnina M5
Devika .5

Ajith.5

Ashik Murali
Mandana M
Agwathy I+
Adithya. Mk

Adhii

Avg. Time

T sps

A0 mecs

24 sacs

49 secs

A7 secs

43 qeed

19 s@cs

30 secy

20 secs

a4 585

26 ey

30 5805

A3 5aCs

52 58Cs

Score

12470

12440

12220

12010

11830

11430

11230

Lo

Lol

10E1E

3310

7350

8820

Aeccuracy

TO%

5%

BES%

T5%

Correct

14720

16420

15/20

17420

15420

18/ 20
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144 20

13420

12/20

124 20

11420

104 20

0f20
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3. Quiz conducted for Sixth semester students of B.Sc. Computer Science

Subject: Internet of things

Number of participants. 32

Quizzz

Intermet of things Internal Exam
20 Questions

1. 10T stands for

& Interconnecton of things B

C Internes of things D
2. The building béock of KOT is ———

A '.':I:II"I'IFllJl&r""; B

C| Routers D
1. RFysystem consss of

& Readears B

C Bath ¥

MAME :
CLASS
DATE

Imtranet of things

Irterconnectivity of things

ACIuATars

SEN50FS

Mone

RFICY tags

4. Which of the fellowing i not an evelutionany phase of intermeat?

A Wobie B

C Mt keadl Econsanmy
5. ‘Which phase will dgitze the world?

A Conrectivty B

L MEtAWOrKed Economy B

G, G an example of benefit of KT

A L S WLl B2 B 31 A e D0 1d T Ba g

Comnectivity

Iemershne Experiences

Internet af things
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13.

Which application warns a drbver whien it is nol safe 1o enter an intersection?

Wiaky Bl BMC

HvAY O] Ina

Which k= the single automation systern for the HYAL, lighting, firs detection system and
aceess control?

HAS B| F55

BAS £| B85S

Which = net a challengs of 10T7

Conskstency B| Scake

Security D Interoperatibily

Whiach is the wireless mesh techrology used one BM2ZM IOT architecture?

NEEE 802.3 8| IEEE802.11 ah

IEEE 1901 |D] IEEE8G2154
Which of the following is the property of an cperaticnal technobagy network?

Evaent based B Data in motion

Real time D Al af the absoee

What gre the twa impamant stacks of simplified 10T architectre?

Which of the following Is a layer of |OT Data management and compute stack?

Edge computing B| BothBandC

Fag computing | Application
Whao credited the term bternet of Things?

Stallings B| Tanenbaum

Keyin Ashron L) Andrew MG

Nursies, omiprnUgue AT e Te SE3efn0 10 T4 Sama i |




15, Which s an example of connectesd raachways

[a] Google's car B Bosch car

_ L | Amazon vehicke (i Tesla car

16.  The pretocol defines a set of services that provides ethernet communication babween

buibding dewces?
[a A B BAChet
£ HITP O SMTP

17, Which = known as Wiklas?

& IEEE 2001 8 [EEEBOZ3

€| IEEE802.1% O JEEEBOZAY

18, Howmany slements in 1077

19, What is the full form of VLAM?

A ‘Whraless Area Metwork B visual Local Area Metwork

L Wital Local Area Matwork o Virtual Local Area Metwork
20, ‘Which Hardware platform used In 1077

LAl oV B CoojaSimulater

L Raspherry P o Confiki
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17 Achire 35 dd zery S0 60% 12520
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Accuracy
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